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tEE  |EES 9 360 2671[[EBEMS 47
JeifmE HiELERE 5 21 142318 ILERS 6 779 52
JbifmE JLiESEL 4 33 2474 EEEMS 4 2349 12707 4200 5136
JeifmE JLiESEL 4 33 2474(L B4 L ERT R 3 259 2120 0 255
JbifmE LIRERE 8 2382 3540 fLIRTT RS A BRI LEHIE 513 23204 0 0 584 | HLIRT BSR4 — /A3L 18896 2916 588 876
JeifmE FIRERE 8 2382 3540(fLIRTE S TIBFRMALEHE 240 2098 0 196 0
JbifmE FIRERE 8 2382 3540 iR ERIS MBS RERMEEHE 51 26865 3402 1176 1752
tiEE FIRERE 8 2382 3540 LRI EEIR 30 5938 3374 1113 22| IR hREaRE 2 — A3L 1519 2928 624 828
JbifmE FIRERE 8 2382 3540(| B ERE 12 543 1279 0 560
tiEE FIRERE 8 2382 3540 FREERMR 7 1297 1584 220 636 FRMABRESFE L 2— N 3301 2916 850 1584
JeifmE FIRERE 8 2382 3540(|BRETH ES 5 2033 850 300 859 | B BEM R ME - Ik B SR A /N3L 1304 3949 850 1452
JbifmE FIRERE 8 2382 3540( L B EMS LESHRESFEE 2— D] 799 2952 624 1524
JbimE BEERE 20 199 4306/ T EES 53 2989 0 0 630|/MET BSR4 — D] 3824 3185 900 980
1isE [#EERE 20 199 4306[ X BEMS 1 BARE £ R 4N 3079 3660 1000 1728
JeimE BEERE 20 199 4306\ BN E FEERS 11 496 576
JbifmE AEMERE 9 152 2562|%F RRMTEME 27 9500 0 250 5855 RRTREARE 42— D] 1849 1470 300 396
JbifmE AEMERE 9 152 2562||4 iR EATS 3 148 2928 800 1172
tiEE BEHNERE 9 152 2562|[EME T ERS 2 1908 7626 2448 3264
JbifmE AEMERE 9 152 2562| = HEME 2 479 3782 1224 1773
JbifmE M ERE 5 30 1067|iF) | =R 14 699 3402 1200 1728
dtimE AR ERE 6 175 1357||EH i =R 7 88 35| EIRFE A2 — N 1668 729 550 561
JbifmE RBIRERE 5 206 2340(| E /N ERR SNEHERE-RBERREVS— |88 377 2928 969 1540
JbifmE HeERE 7 64 1811|[E S EME 11 5416 5475 408 576
JbifmE LI EERE 10 382 4238|[(—%t) 18I T Eff= 110 16326 1095 147 261 |B)IITRBEFE L 2— A3L 2780 2460 510 680
dtiEE | b SERE 10 382 4238| E) I RERS 8 303 432
dtiEE | b SERE 8 60 M7l N BERS 15 160 0 0 552
itiEE  |ERBEEA 5 40 2183|E R HEMS 1 4897 5808 540 2304
JeifmE BHERE 8 43 3446|| B EAR 10 24 96
JbimE ILEERE 10 206 5542|[dt R EEATR 22 426| L RTABREZREE S — N 1680 2916 600 1216
JeimE LEERE 10 206 5542 EREME 10 634 560
JbifmE ILEERE 10 206 5542|[#8EEER 7 1745 3172 676 1120 #BETHRERERFE 42— N 408 0 0 280
tiEE B ERE 8 65 5148[EBEMS 6]- 0 0 576 [ ATk A RESF L S— N 1503 3888 1029 1752
taE  [+BERE 19 333 10828|[EHEMS 54 4417 486 100 1264 AR B RRIARE 5— AT 5081 2651 572 1368
itEE [tBERE 19 333 10828[[ IS E S 12 5595 3402 500 720
IEE  [HIRERE 5 222 5907|[gIBE TS 31 17852 3645 612 1917|HIHREASREE 59— s 2817 2952 612 816
itiE  |REERE 5 72 3553|AR =M = BEMS 6 0 0 192
EHE  |Eath 5 293 1477||ERTEMS 38 2013 3565 265 85| FHRMARF L F— 831 920 216 48 160
EHE  [EEmyg 8 273 1598|Bh AT ERS 31 1072 3s4[ahBTH A BB BT s 4342 854 175 674.5
EHE  [EEmyg 8 273 1598| mEEMS 9 597 312
EHE J\F ihish 8 308 1347[|/\F i Eff 7 559 585 4 328|/\Fiik B RESFLHEN N3L 8078 976 200 759
EHRE  [AlLEiE 6 119 1753|[FE L EEMS 9 517 201
EFHRE | E+=thi 8 166 2055| L+ = EfiE 47 1990 1144
EHRE [T 5 67 1415 D> F L EES 19 9 0 0 213




MR R ERAT
KERELER DA DHSTAERRIN
. HEELEER HRERMEEE 42—
HRERFIR — An [
e “REREE (HREAY (k) __ :
FHERR | zaumo| tRa0B| B-R08 FHEER | zammo| 1A 0| 8- RoBR
R SME®R (B E'Qﬁﬂf*ffaﬁ ﬁﬁfﬂj(iﬁ ﬁﬁfﬂj(iﬁ L AL/ KA/ (4B ?’/\ﬁﬁfﬁ ﬁﬁﬁa’j(ﬁ B%FEE]EEFEﬁﬁ
EfRA HEEA% wmep) | (FHEEE [ FSE) [ FSED ® =5 mem) |(FEAED | RS E)
(R) (B¥FE) (B¥FE) (B¥FE) ) (B5FE) (B5FE) (F5FED)

EFR B ERE 8 461 3642\ E R EMS 111 5370 0 0 576 | 2 i1 R M 2L B B AR A 33L 934 1085 234 324
EFR B ERE 8 461 3642|| '8 FAILEME 39 3287 0 0 2824
EFR B ERE 8 461 3642|[4% K EBERTS 31 994 0 0 576
EFR EFPHERE 4 216 2763|[{EA T ERS 50 2690 0 0 1264
HFE  |EFTHEERE 4 216 27631t L EES 47 1985 0 0 504
EFE [EFTHERE 4 216 2163[EHHEMS 9 912 0 0 560
EFR ETERE 2 128 1173 |§‘<'J‘I‘IEEE% 12 440 0 0 180 BJH <& 7 I8 4K H B2 AR NS 504 0 0 366
EFR ETERE 2 128 1173 BN &7 ISR RSB N 245 525 105 150
EFR MEERE 2 118 1320 —Bm EfR 34 664 964 0 0
EFR MEERE 2 118 1320 —Bm EfR 53 3400 0 0 1728
EFR SIIEEE 3 57 889||SALEATR 26 969 0 0 584
EFR ERERE 2 42 641||ZEREMS 17 681 0 0 560
EFR BHERE 4 75 2670 EamABRB2HRM /AL 403 0 0 552
EFR ABERE 4 54 1077|| A EEME 14 482 0 0 504
¥R —_FERE 4 50 1100|| = F =& 21 1136 0 0 560
=2HE = 14 1509 1648[[flE T RS 106 6325 0 0 1491
B TS 14 1509 1648|[E BT EMS 24 1019 0 0 432
e [we 14 1509 1648||E BB ERMS 18 1129 0 0 576
=meE  [was 14 1509 1648|[2 )1 EffiS 36 1176 0 0 576
e [we 14 1509 1648 WahagEe 5— NI 13943 2844 796 1406
B 14 1509 1648 &2 B DR A 5615 908 404 814
=mE  [wa 14 1509 1648 WETEREABCELARDEM AT 7026 2844 796 1406
B 14 1509 1648 ILEA B AELNER BT =Gl 690 0 0 490
=E & 14 1509 1648 RiE K H S EAR RS 804 0 0 378
=mE  [wa 14 1509 1648 BAERILFER N 139 546 0 0
=mE  [wa 14 1509 1648 ZWmk B RESE 54— NI 2173 0 275 1332
=2HE = 14 1509 1648 EEMRAKBREZRE 2 — A3L 500 0 150 560
=2HE ) 9 166 1551[|B A EMS 17 1939 560
=2HE ) 9 166 1551/ A EMR 11 946 640
=2HE ) 9 166 1551(|5C A A= 29 2777 357 504
L 9 166 1551]| UEERORaEE 2— A3 492 668
EHE  [XE-ER 6 261 2328 KIETHEES 39 4220 0 0 576
EHE  [XE-ER 6 261 2328 MEHEHS 14 368 0 0 552
EHE  [XE-ER 6 261 2328[[E B EHS 12 697 0 0 540
EHE  [KB-ER 6 261 2328 EEHEMS 32 1918 0 0 576
EHE  [KB-ER 6 261 2328 REHRESEE 49— A 2900 668 350 0
ZEHE  [BE-ZX-RWEB 6 335 1753[E BT EMS 26 3851 0 0 592
BEHE  [BAS-BX-RWE 6 335 1753|[BkE B ER S 27 11 0 0 528
ZEHE  [BE-ZX-RWEB 6 335 1753 Bk EMS 22 1443 0 0 494
ZHE  [BE-ZX-RWEB 6 335 1753\ RSB ERS 21 2650 0 0 742
2R a5 BB 6 335 1753 AETRESELI- /N3L 7118 3807 0 1432
MEAR AE-BEAERE 3 102 1822.44 AETHRBEBRE L 2 — Nvi 1957 732 200 710
AR AE-BEAERE 3 102 1822.44(|— R4t ME A AT R AN EMR 11 690 738 153 442
MEE M EEER 2 32 1409.39||E & E AR 13 346 615 130 167
MEE RERILXERE 4 74 191 2B T I AR E TS 35 324 0 0 414
MER RERILXERE 4 74 1191.2 ﬁ%gggfﬁggﬁ%ﬁ%ég%ﬁ 4 1539 0 0 156
MEE MARIERE 7 383 1694.86(FK A EAS 23 138 0 0 420
HER | BRRE [ EERE 2 97| 145072 Eilf%gﬁgﬁﬁﬁ%%%ﬂﬂﬂﬂ' e 0 0 0 0
FEHE BRI - (SN EEARE 2 97 1450.72)|I AN EFTHERS 10 54 0 0 21
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HREMEERERSE
FHEER KA - il AE EFRE 3 119 2128.67 (REEEEREL2—) 0] 338 0 0 420
(HFI3EIA3TAREL)
KREREEREHESEX
MER K-l ERE 3 119 2128.67 (T AERERR) 5] 7 0 0 72
(SHMIEIA3HFEL)
AR BFEERE 1 84 692. 8[|l FHEME 34 232 0 0 204
WiZE AL 14 529 2619.4[| EILTHEMS 17 969 2 0 8| Ltk B R EET R 6634 980 200 840
R Al 14 529 2619 4[| REHRM LA ERS 43 1896 0 0 782|F LK B BT 331 207 0 0 414
WRE Al 14 529 2619 4RI H A LA EMS 52 2141 0 0 576 |RAR TR B BT AL 352 0 0 418
WiR Al 14 529 2619.4[I AL A 1Li3th X =R 10 714 0 0 525
Wiz &L 8 70 1803.2 %ﬁr‘ﬂﬂEFﬁWE PR /A3L 786 590 138 490
WiziR B 8 200 2495.2 KRR KB 2RA i 932 606 0 420
WiziR B 8 200 2495.2) FIlBREB A B 2R /N3L 405 0 0 544
WifiziR B 8 200 2495.2 EHEEBIKBZRERM i 385 0 0 560
WiziR EA 5 261 2405.3 BB TR B 2T /N3L 1356 738 125 665
Wz 2 ERN 5 261 2405.3 SEETA B 2R i 1457 0 0 525
EER i 8 463 1753.34[[fE BT EMS 170 11808 0 0 3728
EER i 8 463 1753.34 EETRERRLE D] 6756 3037.5 625 900
EER i 8 463 1753.34(|— A4t FE NFHEEMS 37 1380 0 0 568
EER i 8 463 1753.34(|— ARt FIE AN REEMR 39 3620 0 0 915
EER o 12 517 2406.25||— %3t FE A B ILERS 140 5269 0 0 560
#BE [Ef 12 517]  2406.25| EBLHHE - BESFEE S— A 3942 732 150 767
B#E2 [B4 12 517]  2406.25|BH ELE 30 1305 384 0 472
B#EE [B4 12 517]  2406.25[F I BB EMS 12 659 0 0 511
EER o 12 517 2406.25) BEIMARBREDRLE 3] 771 490 125 408
EER B 9 138 1233.07|| B ERFE 26 747 0 0 560
EER B 9 138 1233.07|[3R 8| BBERS 10 884 0 0 568
EER RF-MRE 17 254 5420.31 REENTRERREVY— A3L 1796 972 200 320
EER RF-MRE 17 254 5420.31||RFFNEMS 64 4177 0 0 1232
EER RF-MRE 17 254 5420.31||EZ HEMR 18 652 0 0 528
EE5R RF-MRE 17 254 5420.31|lB AR ERTR 14 694 0 0 550
EER X 12 118 1738.75([fH E AN =L 35 2524 0 0 833
EER LhE 1 331 1232.02|LVhEHEER 114 5901 20 14 3253
EER LhE 1 331 1232.02 LWhETik B RESFZEN /N3L 797 600 206 616
PG KE 6 456 909) KEMKHEER R EN 331 4812 743 155 601
PG KE 6 456 909|| % T EE B 23 421 0 0 168 | % R I kT /AIL 287 490 0 408
KRG =l 3 242 606|(H ST ERfS 23 512 391| Bk B RSB AT 449 391
Bl EEA 3 242 606||Z BEMS 8 236 0 0 364
PG Elvd 3 242 606|(Z BEAME 13 680 0 0 560
PG HEXE-UfbEH 6 350 1282(| ¥ XA EMS 11 1173 0 0 518
RTIHE BEXH- VBN 6 350 1282 U -bigh ik BREZ R A3L 2262 0 150 630
PG BEXE-VEELEH 6 350 1282|| IR EfE 7 839 0 0 210
PG FBEXE-VLELEH 6 350 1282|| IR EfE 17 893 233
PG FBEXE-VLELGH 6 350 1282|| IR =R 7 765 0 0 248
PG FBEXE-VLELGH 6 350 1282| /K BB ERTS 3 459 3402 1224 1608|535 %L
PG BT 5 267 754(|E B ERS 19 1006 432| EIETH R /N R B BT N3L 626 738 153 204
EL L 5 267 754|/K B E B2 Bk X 5B 8 902 0 0 483
ZHE BT 5 267 5EEEMS 1 2634 0 0 504| E TR SRS R RIMR A £ 24— [0
ZWE BT 5 267 754|EIBTHES 9 848 504
E S 3 254 495\ L AT EMS 34 2222 0 0 876| Lim itk B REDER N3 603 294 153 645
B L 3 254 495|[E M H EMS 7 219 0 0 19| ERATRARE ERTEMHSRR [RE 110 187
B EXES 3 355 487 BERHRBREMIE L 2 — R 497 3767 1128 1728
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KFE KIE 3 355 87| oKIEHERE 61 2649 0 0 1008
KFE BF-BIG 9 458 656|[BE7 I ERIR 32 1775 0 0 576
RFE RF-EBYE 9 458 656|_ DFLHEKRBEHRILHRN  |RE 827 3904 800 1704
ZHE  [RE-B7E 9 458 656|[4E AT EATS 21 859 0 0 216
ZHE  [BRE-BYE 9 458 656|[EHEMS SHEM M EREE 12 1140 497
ZWE  |RFE-BYE 9 458 656|IREBEMS 2 70
ZWE  |RFE-BYE 9 458 656|[57 = AT 18 748 0 0 497
PG - TE 5 253 591 |[fEd i E A= 25 1714 0 0 504
KFE FidE-TE 5 253 591||EEEAME 17 594 420| FEHREIC 2R /AIL 23 612 840
KR HAE-TE 5 253 591 AETREAKE —RESLEN | A 41 16
RIRE HAFE-TE 5 253 591|| BB ERTS k) 1| X & 12 290 0 0 504
mAR FHEERE 1 519 M6 FHREHEMR FHRENREKRDRIDERA NG 8742 2748 598 851
mAR BELERE 1 95 490 LR E BT EMS 6 560|RE B K B RE DB EM ;s 1024 435 0 630
mAR BAERE 1 77 1449|| E MEBMHER AXTIKARBIELEEMR A 449 0 0 639
mAR FEERE 1 138 628|[F B A ERMS 22 2067 0 76| BTN B RESBERN 3] 2529 879 0 720
WAE  |HAERE 2 193 3 FHREHRTEMS WmABRAS 58— AT 2519 726 156 852
HAR ABEERE 2 40 367(|FIAREER T EET R 19 973 568
mAR ERERE 4 116 543|[{E B BT ERS 44 3377 ERhRRHEZRE 331 106 285
mAR BEERE 3 212 1319||ARZERR Th =R 62 5612 MEMRRESBZENR A3L 1139 602 130 180
mAR MNUERE 4 283 331|/M L X ERS 6 3360 3332 728 1064 /MU X 4k B 2 BB 3] 2099 729 156 700
mAR MEERE 1 143 177||RFITH ELFS ERHKEEESBZEN 331 849 159 36 483
mAR MEERE 1 115 356|1E B ERTR EBHEGSHBESKD - ERRELEN | 3057 729 156 630
BES  |5E 1 331 312||§ﬁ*r§?ﬁ§&ﬁ% 234 12624 0 0 504|FTiE TR E SRR BT A3 2238 729 150 216
BER Bi-RH 2 426 459|[= BT E A= 173 11540 0 0 648| S IE TR E K B 2URZ BT 3] 3677 608 150 429
BEE |#Rx 2 154 483 E T ES 93 3939 648
BER FEG 2 247 165|{F SIS E K ERS 107 2765 0 0 720
BER AH- M 7 400 369|[KEHERS 107 576 | A H T F B RESFZENT 3] 361 241 156
HER B3 3 109 289||3% )11 X ERS 44 3984 576 %) bR EIBEREABLEN (21 615 846 345 80
BER BRRE 4 65 552|[# 2 HEMS 48 3744 2160
BER = 4 67 489) ERTHEREMABZEN |28 430 322
BER Bi-RP 2 426 459 R ERS 17 859 1136
BER EE 6 51 1278(| EEA =S 18 1320 576
BEE [E@ 5 76 1766|;ZBFIRELS 7 1145]— — 2040/t BRI A S DEN — 60]— 132
HER AH-fEM 7 400 369|[SEH T B K AEMS 67 0 0 1609 | fE M T R SR BT /NIL 79 177 39 0
BEE SLVFE 1 1332 217|EFES 51 1788 0 0 1344 BRIk B R B2 EM NG 4565 729 150 720
BER SLVFE 1 1332 7 KEEME 22 90 0 0 20| XEXRBERHEZE L S— D] 4681 2928 600 1349
BER SLVFE 1 1332 27|[EV-FET S HEME 10 536 0 0 288| 5B AB R BERM D] 1571 0 150 657
BER S=FE 1 1332 217|| W EMS 23 2961 0 0 560 Sk H RE R B LB 3] 134 0 0 210
BER BR 5 528 1| HEMS 37 2134 0 0 966 | TR R R B2 &AT /AIL 198 729 0 0
BER BR 5 528 17| EETEMR 4 37 0 0 426| tET FARBERUCKBRBSEM| AT 985 488 0 426
BER BR 5 528 171 4E B S AR T = A= 88 163 482 104 576
BER JIRgEE 14 792 626|[) 118 EARIS 60 1127 0 0 504 |)I1# AR & K B 22 A 3] 1522 486 100 432
BHERE  |#tke 14 792 626[[LL S EES 18 683 0 0 160
BER JIRSEE 14 792 626|RF B BEMS 6 76 0 0 12| RFE, SEMSKB 2B ZEM | A% 1363 0 0 648
BER s 7 502 1O RAMEMS 8 382 0 0 490| A B 2B EM R 310 0 0 420
BER [k 7 502 [ EPNDIEES 3 157 0 0 560|/\2 B#Fﬁ%;&m,mﬁ R 36 72 0 0
B X EMS

HER LY 7 502 0l Capmmt okt 1S SFEET) 120 2137 0 0 396
BER B4 7 469 562|[AEH IR EHEMS 32 566 0 183|AETREBEMRTAETIKRRBBHRT | AR 1196 98 0 639
BER B4 7 469 562[RRFREMS 9 197 0 0 191 |RABREMSKBBRFCELEMBRT | AR 1754 0 126 595
BER B4 7 469 562 AR - RESBZHEF (WH-NER) | /AT 1357 605 128 606
BER B4 7 469 562 EATKE -RESBDHRA ER) A 148 0 0 213
BER i 5 769 406|[FT iR T ERTS 154 3860 0 8 560| TR REFR L 2— s 1725 2916 675 972
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BER i) 5 769 406|| ARSI X ERRS (BART, £ 2 LET) 14 247 0 0 66
BEE  |fEE 5 769 406|[ A TR EE AT (AR 7 1854 0 0 1008| AR 7R I SS9 AR AT 143 288 150 180
BEE iR 5 769 406|[ SR AL X E RS ST AR B - RIS | RS 453 480 102 495
BES |7 5 769 406 BT RS 5— 4N 543 468 0 504
BEE  [@EH 3 808 85| F B EMS 7 231 0 0 41|BEHHE - FERMARRET |48 1027 732 0 483
BEE  [@EH 3 808 85|l FEHTKE-TERMSEZHEN (A 23 0 0 21
BER s 3 808 85|l O EETS 208 7161 0 0 504 IIOMCELRAEIREBZHEAN A3L 1865 851 225 324
HEE  |FlE 9 1160 413||E AT ES 1 315 0 0 210
BES [FIE 9 1160 473 AETHRBREABDEN A3 45 0 0 117
BEE 7R 9 1160 473 EE T EMS 2 536 0 0 355
HEE  |FlE 9 1160 473|[ L B 4L & 5 882 0 0 204
EE- I ET] 9 1160 473 B EEES (NEH) 2 1499 0 0 630
BmER Rk 9 1160 473|[JLi5 F EERS (P ) 24 798 0 0 576
BER FIR 9 1160 A13|[ITHHERR 10 1677 0 0 546
BER AR 7 1155 249||F B A T ERS 100 4110 0 0 1296| ZEHE T/ NERERHELSHEN | 281 729 0 0
BER AR 7 1155 249||E /B ES 62 4788 0 0 26| EmMtiFELBRRMII=vY | AL 1731 717 208 296
BER AR 7 1155 249 J\EATISLIR B RS AR A 331 233 0 0 280
BER AR 7 1155 249 A THERS 50 1696 0 0 168[ AT REIDEZEN 331 2191 738 153 213
BER AR 7 1155 249 = i EBRS 12 253 450 98 0| =M EMRIAB S B 3] 663 0 0 430
BER AR 7 1155 249||F N IMMRERR (F)IH) 1 775 0 0 576
BER AR 7 1155 249||F N IMMRERTS RRKET) 8 355 0 2 70
BER #®R 5 86 798| R BRI EAT R 17 600 0 0 657 | R AT =AM A B 2 BT R 900 0 0 603
FER FE 1 976 21177 FEHEMS 27 214 0 0 576 | [FE) FEHREL 22 E 331 8675 1215 312 420
FER FE 1 976 271.77 UABIFETKRBRSZEN /N3L 9799 0 0 504
FER BB 6 1796 25301 B HHEME 37 1369 0 0 576| BEHHRRSEM /AL 591 729 150 216
b LREDNRRRELS— ('R

FER B 6 1796 253.91([/\ FR T EME 107 3500 0 0 2304 g%ﬁ%ﬂximﬂﬁl\ﬂﬂzﬁt‘/ =55 2839 1215 250 360
TER [REmi 6 1796 253.91|fntE A= 188 2607 0 0 576 | MtE TR A B 2RSSR A3 2288 1206 354 1086
FER RBEEE 6 1796 253.91 TﬁJIIT‘ﬁ%Jﬁ SR NS 4359 726 156 710
FER RBEEE 6 1796 25391 ARTEFSRM N 870 738 153 680
FER BEILE 5 1415 358. 14| F T EMS 179 1530 0 0 462 | IMF T RE/NERREV4— NIL 2719 1245 250 330
FER B 5 1415 358.14[[{T =R 86 1496 3402 700 1518| AT ER 54— A 459 240 46 148
FER BEILE 5 1415 358.14 LT B R - K H 2R NIL 761 488 100 498
FER B 5 1415 358.14[|EFFE T EMS 34 3980 0 0 1971 |FATRREE 2 — N 88 261 57 393
FER B 5 1415 358.14
FER RBBILE 5 1415 358.14 ERFHIRBEZRM s 572 0 0 497
FER ENig 9 728 691.66(|ENiE T EREAT S 58 1848 0 0 675 |FETER/NR A SRS BAN A 2721 2673 550 1368
FELE  [HiE 9 728 691.66| AT 2RDREN AT 2135 964 196 825
FEE [ 9 728 691.66][ kaTkBREABDREM AL 49 0 0 216
FER ENiE 9 728 691.66 M E TR B RE SRR N 0 0 0 280
FER FHUER 7 266 717.47||EREPH EMS 19 188 0 0 216
FER FHUER 7 266 717.47||— Bt EE A K F T EER 21 1465 0 0 616
FER FHUER 7 266 717.47(|RB B EA S 20 2158 0 0 620
FER WREERRE 17 412 1161.75( I L KB EAR & 48 3744 0 0 2058 | I BB T SRS HRAT NS 485 1029 156 240
FER WREERRE 17 412 1161.75||EEH R A BEMS 39 4023 0 0 560 | REMTRB 2 —RERRBSHEA A3 460 729 150 216
FER WREERRE 17 412 1161.75(|RIBEAR 3 724 0 0 600
FER =ZE 4 122 576.53(| X EERR 10 233 0 0 387 | REMTREDRLHE N 968 729 150 216
FER Bz 4 327 758.22|| B EAEEEME 77 9437 0 0 2963| B EBHRERRL 1§Fﬁ N 1747 729 153 253
FES R 1 273 368.17|[MR T EES 75 4464 0 0 576| TRM ARz 53— N 2590 729 150 792
E X R & 5 948 63.64| FHR AR ERL M HEMS 12 430 0 0 96 | FHE R BIGRBHA (FREREFTN) [2AH 211 0 0 936
wEE |Roas 5 oag| 6364 R IHAE TIEIE | n 85 726 0 0
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RS SAREERE 6 449 1209(| S AT ER 31 472 492 0 O|SHTRBBZEMN /AL 461 0 0 490
RS SAREERE 6 449 1209(/iZ R ERS 42 2291 0 0 576
RS PREERE 6 465 831 INEBNI BB 331 1779 732 0 525
RS PREERE 6 465 831|| R FAHEMR 15 488 1230 0 O|RHATKRADELHRE A3L 968 0 0 570
BEE  [PREERE 6 465 831l EETAEE F— A 3221 732 150 639
BEE  |LEERE 1 27.64 944 BB EES OKE) 2 351 3444 672 710
BEE  [LEERE 1 217.64 4| EZEERS (BH) 5 116 2952 576 852
BER | LEERE 1 27.64 sl mEm SRS - BL) ;f‘;ﬁ{;ﬁgfj*ﬁ*ﬂ%%?ﬁmmﬁﬁ AT 8 0 0 0
@2 BmEERE 7 818 701 |jER EMS 12 852 0 0 442
@2 EERE 7 818 701|[5 B =R S 19 1540 0 0 568
@2 BmEERE 7 818 701 [jEILERT S 53 5014 0 0 1146
@2 BEEERE 7 818 101[EM T EMS 296 16154 0 0 TIOEMTRERAE N 8755 2684 750 781
5@ 2 R ERE 7 818 01[EREMSGHAETER) 24 1815 0 0 1136
ZHE EIREEERE 6 478 230.14 HPEEMRKA2RDRAN N3] 1520 432
ZHE EIREEERE 6 478 230.14 RETEEMRKBRFEZHEM  |RAE 1010 468
ZHE EIREEERE 6 478 230.14] SHHARBERR AL 568 497
BHE EiRILAERE 7 731 295.96 HAHNTKRA - FERESFLEMN | A3 3353 732 150 710
R BRI BERE 7 731 295.96|[ INETHKE BRDERM NS 1221 0 0 490
BHE  |RRLBERE 7 731 295962t EEFS (K O HT) 8 281 0 0 186
BHE  |RRLBERE 7 731 295 96| Rt EET S (bR RHT) 10 306 0 0 246
BHME  |ERIESERE 7 731 295.96[| Bt EEFi (K L) 18 364 0 0 210| RILTfitk B BB 2B A3 512 0 0 403
FHE BRI BERE 7 731 295.96|[ Itk ESRDEM AL 596 0 0 560
BHE BRI HERE 7 731 295.96|[ HATKEERDEM NG 204 0 0 420
ZHE EiRFE T ERE 2 513 193.17|[fEiR T =S 45 1441 0 331.5 745.5|fiEiR i EMTRA B 2RSSR R 1137 0 0 532.5
ZHE L2EE-ERDHESE 4 2499 368.4|[f8 & & BEERTR (fREH) FEERMA B SRS ERAT (Kb ) R
ZHE L2HEE-BRDHEEE 4 2499 368.4 HEMA B IR EAT (Kb ) R
ZHE BEERE 7 326 208472 S EMS 4 288 0 0 19| 2SR K A RS HRAN AL 524 0 0 497
ZHE BEERE 7 326 208.47(E S EAR 12 862 0 0 497 | ERHh X SRS HRAT N 1141 0 0 426
ZHE HME+EERE 10 625 392.2(| 3 T EMS 55 2948 484 32 798
ZHE HME+EERE 10 625 3922 Z EEMS 51 3116 822
ZHE R ERE 4 52 1052435 h A = 6 96 126 130 84|FiM MR B HRAT s 373 732 147 216
BHE B ERE 4 52 1052.43| Pk B 2R AL 525 0 0 504
ZHE R rSERE 4 694 671.04|[2) I ELS 28 2132 0 401 1000|2)IIT K B R SRS HB/AR N 2315 732 350 852
BHME  |R=AmEERE 4 694 671.04|E BT ELS 20 153 0 150 355 E R IR B 2R AT 231 682 0 0 497
BHE  |FAESERE 4 694 671.04|HEH ELS 25 1511 669 0 928[ 4L
ZHE R mSERE 4 694 671.04|2EHEMS 60 6659 972 450 3128| 215HIA B REI 2R AT N 3674 2673 561 497
ZHE B AR RERE 2 427 443.92||FE 15 T = AT & 162 15513 0 0 490| fE G ER S R SR E BT R 4314 732 153 210
ZHE 7= 4L 2 486 950.51|%2 A ANEEMS 22 1410 0 0 568 | 4 F 0% EATR LK BIRR R S HRAT | A8 454 0 0 568
ZHE 7= 4L 2 486 950.51 SHEERE 42— H 4482 3374 408 576
ZHE [i=RD A1) 2 486 950.51 SHMIREIKE N 2R s 478 0 0 432
ZHE EiRFE T ERE 2 513 193.17, —EhRBRFLHEN N 1081 0 0 462
ZHE F= AR 6 704 363.76[|FE B =S 22 1190 0 0 497 |BEMABER - BEEWR SR | AT 1124 0 0 497
BHME A=A 6 704 363.76| BRI ELiS 16 1152 0 0 483| EETIA B 2R A3 433 0 0 449
BHIE | FE=ARRAE 6 704 363.76|| N A EME 14]— 0 0 490 | M A EEF S B BT NGl 1525 0 0 560
BHIE | FE=ARRAE 6 704 363.76|[ X4 EETS 4131 X &6 17 291 486 392 0
BHIE | FE=ARRAE 6 704 363.76| NI B EMTS B EX A 19 931 0 0 427
ZHE =R AT 6 704 363.76 R TR B EE SRR N 2357 488 200 781
BHE E2EE-ERTHERE 4 2499 368.4 ZEETEMRSREL S — R 12899 2562 625 1314
ZHE ZH R BRI ES 4 2499 368.4 FERKESFBLHEN R 578 0 0 426
ZHE ZH R BRI ES 4 2499 368.4 LRk B 2R B R 805 0 0 426
ZHE L2EE-BRDHESR 4 2499 368.4 TR KB 2R R R 653 0 0 426




AR E RS
XERELNEROADHZEFRERI RS

_, ] AO i EELEER hERMASE L 2—
ZREHRBZ TR ETR FL (k) __ :
FHEER 2 ammo| tkR0R| 8108 FHEER | zapmo | tEa0R| 8- RORS
i) SER (B E?ﬁﬂ%ﬁﬂ ﬁﬁfﬂj (F ﬁﬁfﬂj (F L XL/ AR/ (MBS ggﬁﬁﬁa&] ﬁﬁﬁa’j (& B%FEE]EEFEﬁﬁ
E3:0] HEEA% prae (FMEEH) | MEsD | B&RD R B (& | MERD &)
) (B5RE) (B5RE) (B5FE) e (R (BRE) (F5FED)
ZER-ERPHERE 4 2499 368.4 A XK B 2R R R 618 0 0 426
L£EE-EEDHESE 4 2499 368.4 BIXAE SRS HRNA R 725 0 0 426
ZER-ERPHERE 4 2499 368.4 X K B 2R R R 791 0 0 426
L£EE-EEDHESE 4 2499 368.4 BHEXKERRSHEN R 337 0 0 426
LEE-EEDHESE 4 2499 368.4 IR B 2R HRA R 1046 0 0 426
L£EE-EEDHESE 4 2499 368.4 BRKBRRZERM R 378 0 0 426
LEE-EEDHESE 4 2499 368.4 BRI B 2R RN R 404 0 0 426
L£EE-EEDHESE 4 2499 368.4 SFILRKERRSHERR R 758 0 0 426
LEE-EEDHESR 4 2499 368.4 XK B IR R R 1774 0 0 426
L£EE-EEDHESE 4 2499 368.4 ZRRAEBRRSHEN R 779 0 0 426
LEE-EEDHESR 4 2499 368.4 KERKBRRZHEA R 876 0 0 426
L£EE-EEDHESE 4 2499 368.4 EHEERNaRtEYA— (X)) [RE 145 732 0 0
LHE-EEPHERE 4 2499 368.4 BEHFEARMERE E— (DIIR) |[RE 296 732 0 0
LHE-BEDHESRER 4 2499 368.4 EHTEERERFE L A (FILR) | RE 293 732 0 0
LBERE 10 831 1109(| & ERS 2|— — — 350| RATIE22HAN NG 715|— 100 385
LBERE 10 831 1109||LVER ERfS 21 168 0 0 497
LBERE 10 831 1109 Ehm=EEGil 331 1249 0 0 350
LtBERE 10 831 1109 SRR b R EA AL 4359 732 156 621
LBERE 10 831 1109||& ILEMS 30 708 726 153 513
P FEERE 3 438 1399 EHIERIU=vY 331 2621 1026 175 672
PP ERE 3 438 1399 BEHAEKBIS 2B /AL 251 0 0 420
th SR E ERRE 3 438 1399 ?}T;f:{fﬁ%bu_‘yb'WET/ AT 1961 953 163 654
PRFEERE 3 438 1399 FEHGAZHEM Nva 2053 729 156 630
PP ERE 3 438 1399 ZERTIC 2SR N 1180 729 153 568
BREEERE 11 430 2276 WRT K B RG22 B N 4081 607 425 600
MYEEERE 11 430 2276 FEHKE - RG22 RN N 3046 610 1275 595
AYEEERE 11 430 2276| BRTHAR - RG2S HET AT 340 242 122 444
AYEEERE 11 430 2276 EEET A B REGA DB AT 470 735 125 448
RiCMERE 5 65 990||#2 It Effi 10 602 0 0 712
AT ERE 5 65 990 RSS2SR =] 429 0 0 497
Ll 4 346 256.39 HELEA B 2R R Nva 2960 0 0 864
BT 4 226 727.97||FE I EMS 17 374 553 0 0
FRT 4 226 72797 SET/\BBA B 2B N 2551 0 250 720
iR 4 226 72797 FEIARBRELHEN N 1308 0 0 576
piiES 5 155 392.04{|5 3E BT 11 172 272
S 5 155 392.04 ERKBRDERAN N 690 0 0 448
il 2 151 931.41 REXEKRBEEBZHEN N 1065 0 0 568
FHE 4 88 845 5 HEAMS 10 988 0 0 426| ZEHAB IR RR N 306 0 0 426
FHE 4 88 845|1L FH Effis 5 999 0 0 426
ares 3 187 1242|| BB AT& 3 3002 0 0 1728| BEET A B 2R HRAT A3 286 0 0 364
iare) 3 187 1242 EELTAE S B2RR A3L 367 568
mart 3 129 1144 BETHIKB2FSHEM N 462 497
- Z 3 4 1611 861 R SRR R 9604 729 833 949
- Z 3 4 1611 861/|Z 3l Effis 30 256 0 0 461| Z FI4K B 6 25T N 1344 0 0 461
it 7 354 258 L —— FATAE SRS HERR NS 622 0 0 420
;2 7 354 258 L —| s B SRR NG 307 0 0 420
L de 7 354 258 J\BBT LK B IS 2R AT 198 0 0 385
it 7 354 25 FEDTKB G 2EHRA NS 144 0 0 420
LR 5 195 263 HERBS SRR N 320 0 0 280
1] 6 1056.9 275.61 ;ﬁ?ﬁggﬁ%“pﬂﬁﬁﬁﬁzt/ N:G) 969 518




MR R ERAT
KERELER DA DHSTAERRIN
HEELEER HEREAREE 52—
HERFR —, = AQ EiE
e “RERES |TmRETFHK G0 (k) __ :
FHEER 2 ammo| tkR0R| 8108 FHEES | zammo| a0 8 w0R
A SMER (R SRS | BRI (4 | BRI (5 e NI/ A/ (HBERE BB | R (F B#Fﬁ(ﬂEFﬁA
EfRA HEEA% prae (FREE) A&t A&t RE B (& | MERD &)
N (B5RE) (B5RE) (BRE) e (R (BRE) (BRE)

KIRRF |24 6 1056.9 275.61 ;ﬁ%%a‘%ggﬁ}%¢ﬁﬂ§ﬁﬁ1ﬁt/ H 544 518
KB AT L8 6 1056.9 275.61 AT B 2 FZRA N 1123 0 0 426
KB AT L8 6 1056.9 275.61 WHEMT KB 2FZ RN N 2294 0 0 432
KB AT = 4 758.3 213.46) RATRRERYE2—HBRBSHRAT | A3 990 617 702 1172
KBRAF = 4 758.3 213.46) SHEARMKE L2 DEM Nva 11708 2440 800 1207
KB AT Jeia A 7 1135 177.34 SFOmAE - NEEHAB ISR RA A8 916 0 123 530
KB AT BRI 7 1135 177.34 Fﬁ'ﬁﬁif%ﬁz?aﬂttza—-' AT AL 432 0 147 432
KB AT Jeia A 7 1135 177.34 BERIMMREEL 2R A3 1129 0 0 618
KB AT BRI 7 1135 177.34 *5(751* A 2R R R 1365 0 150 432
KB AT BRI 7 1135 177.34 EARCEIRBBE L2 — AL 2335 2187 450 648
KB AT JEiEA 7 1135 177.34 KEmLk B 2B AT 324 329
KB AT JEiEA 7 1135 177.34 ZHWIRESE L S— KBSEF | A 465 0 0 284
KB AT Jeia A 7 1135 177.34 XHETILLE - REBRERF L S— A3 153 0 150 198
KB AT il 3 824.3 128.83 RERRMKBRFEZHERN N 2413 0 150 432
KBRAF bl 3 8243 128.83 J\EmkB2RZHEA N0 571 0 0 555
KB AT BAIR 9 589.5 290 BAFHUARBRFBLHEN N 255 0 0 355
KIRFF  |REAm 9 589.5 290 g%ﬁmﬁggti&;gﬁﬂmt A3 505 0 200 284
KBRAF R 9 589.5 290 PG REE4— (RBRRDER) [N 545 0 0 355
KBRAF R 9 589.5 290 EHEMTILRBERR 331 1006 0 0 432
KBRAF R 9 589.5 290 ANEHHILREE 42— N 436 0 147 350
KBRAF R 9 589.5 290 KBRIXILITH ERRS 0K H 28T R 79 0 0 198
KBRAF R 9 589.5 290 BARRER N 48 0 0 15
KBRAF i) 1 823.7 149.83 RHCELRFE RS — D] 7127 1952 539 1221
AR [|®® 1 823.7 149.83| RHRtaREDEL 2— N 2074 0 147 627
PN EEY 12 879.9 440,93 BAEMIZEEVE— NvA 645 0 0 432
KBRAF RN 12 879.9 440,93 SNSRI A RE L 4— (A5 3739 250 792
KBRAF RN 12 879.9 440,93 RMEHIHARE 52— i 1931 147 150 426
KBRAF RN 12 879.9 440,93 BEHIKEASDER i 344 360
KBRAE | ABR AL 5 698.3 48.65(] BBk ARDEN AT 1464 0 0 504
KBRAF ABRTALE 5 698.3 48.65( += kB EREDEN i 728 0 0 504
KBRFF | KBRidEH 6 489.5 60.8][ qns&%fﬁé?éﬁﬁﬁ NS 21956 1872 750 936
PN BN 6 489.5 60.8][ EHBRRDEH NvA 973 0 0 504
KBRAF ABRTTERH 7 758.9 47,56/ AE{*B%J% il i 1143 0 0 504
KERFF | KBRiEH 6 808.2 68.46( RZBTAEH2BZEM N3 1876 0 0 504
KRR | KBRmEE 6 808.2 68.46]] hEA B RRDEN AT 2403 729 0 504
EEE  [R# 5 712 4.81||FEHEMS 23 204 2904 612 864| EE A B IS 2B AL 745 0 0 576
EER X 5 712 481 |[FEEHEMS 26 6705 15708 4860 6472| B E T DB AL 4075 806 313 792
EER P e 5 712 481 gg?ggéfg?ﬁﬁgﬁ%% ] 7889 2187 700 1512
EER X 5 712 481 FRTRBGEZRERN 331 643 0 150 438
EER X 5 712 481 EFNMKBGREER A3L 313 0 0 223
EER g 5 712 481 NIFETHIS 22 IAIL 181 0 0 426
EER g 5 712 481 ZHTKREGSEE L — 331 1657 0 0 504
EER FHRERE 2 99 870 FHERBELTA B 2 BFT IAIL 183 0 0 390
EER FHRERE 2 99 870 FHETRBIS 22 R IAIL 629 0 0 543
EER JLEERE 6 262 895.6 EmZAKE SRR 2 — R 159 408
EEE  [LBEES 6 262 295.6|/ Gt - METHEMS 43 1219 204 1136
EEE  [LBEES 6 262 295.6|[FE T EMS 18 452 0 0 568
EEE  [LBEES 6 262 295.6|[= AT EMS 51 1281 291 0 1022
EEE  [{EEEEHR (higEE) 4 570 865|[JE L TH RS 23 840 0 0 A6| BT - EEaF T I— N 11722 2349 468 936
EEE  [{BEER(hEE) 4 570 865|[lERE T (REHBKA) 3 437 0 840 1152




AR E RS
XERELNEROADHZEFRERI RS

HEELEER HEREAREE 52—
HERFR —c = An it
4 ZRERES TR ETR FL (k) __ :
FHEER 2 ammo| tkR0R| 8108 FHEES | zammo| a0 8 w0R
A SMER (R SRS | BRI (4 | BRI (5 e NI/ A/ (HEHE BB | R (F B#Fﬁ(fﬁf“iA
EfRA HEEA% prae (FREE) A&t A&t R B (& | MERD &)
N (B5RE) (B5RE) (BRE) e (R (BRE) (BRE)
EER FBEEIEER (FRBEE) 4 570 865||#HIA AR ERT R 19 883 0 0 576
EER BEEIERR (FIEEE) 7 249 1566.97(|RIEA =R 8 1500 3000 1600
EER BEEIER (FIEEE) 7 249 1566.97(| R H EME 25 354 0 0 576
EER BEEIERR (FIEEE) 7 249 1566.97([{ AN =R 8 450 592
EER BEEIER (FIEEE) 7 249 1566.97[|REHEAS 22 850
EER BEEIERR (FIEEE) 7 249 1566.97 BEABRESREL S— D] 1089 12 840
EER RIBE 5 715 266|[BA AT ERS 46 2327 0 0 568 |BA A I WK B S S B N 4721 2196 450 1278
EER RIBE 5 715 266||71EIEJIIEEE§ 104 8098 0 0 252 ggéﬂgﬁgﬁg‘f%’ijﬁ%‘w ) 2105 2214 459 612
EEE  [FEE 5 715 266|[EHTEMS 36 3269 657
EEE  [1ES 1 77 697.55]] ST ERRDERN A 332 490
EER Fica G 4 79 1435.75 ERER =G0 i 197 7 413
EFEE R B 3 127 595.7 MATIE 2 EAT 331 1467 984 196 770
EER R B 3 127 595.7 EHhLHREIERZ RN 331 681 0 0 949
EER R B 3 127 595.7 IR B IS S 2R /NIL 310 0 0 700
=RE ZRERE 1 354 276 ZERHNMKARRBGSZERN N 3951 1952 600 1207
=RE |BANERE 9 338 168 ;E"E?\*.E’fﬁ%g%" %%;}”’t’ =355 1919 1944 700 1440
ZRE RIERE 9 197 657, KRB B G 2EHRA N3T 320 0 0 426
ZRE FHERE 9 338 168 RAEBLTA B S22 R AL 279 0 0 648
ZRE BEHERE 9 338 168 SEKRBIGEERM A 1499 0 0 644
ZRE PHIERE 8 366 240 ERMARBREE2ZHEN A3L 3153 607 122 949
ZRE FHERE 9 197 657, BATKRBREAE2ZHEN N 316 98 0 568
ZRE RHERE 9 197 657, BRI B2 2R N 198 0 0 432
=RR PHERE 8 366 240 Bt XK B SR AL 1386 0 0 576
ZRE I E AR 8 366 240 EFRTTHR B IS 22 HAR N 115 0 0 115
ZRE AERE 12 64 2346 HIEHIS DB N 206 0 175 72
=82 |FAHERE 12 64 2346|| F i ERTS 13 345 0 0 504
IR | FnFel 3 410 438|[BRmEMS 23 581 0 0 469 [FIFILTT R - K BERZ R 5— |1 5357 2187 500 1146
BT 2 112 267|( BEKRBSBDER AT 412 0 0 566
MILE |BK 4 83 463 FEA KB B2 RAN N 361 0 150 497
MR |EH 4 69 475 HHBSKERBDEN D) 243 0 0 355
= Dy FEY

ML | 7 59 579 ; '(EIUET:EE\?‘%%T#{* RREPR A3L 189 0 0 432
AMFLE |HiD 4 119 1580 HBLLEKBRELERN 3] 1729 0 150 426
MRLE |F= 6 61 922|[% = i S 17 832 0 0 568
BRE |[EHEREEE 5 223 1518 RANEMSEEDER R/ 5909 783 141 814
BRE [hHREEERE 5 98 781 thERtk B 2B SHER R 535 0 0 690
BRE [AHRRERE 9 228 1208 FEHEMS 2 BP B =Gl 1767 729 150 926
BmE TR EERE 9 228 1208 HEARKAES RN R 164 0 0 379
BiRR BT 2 239 993.92 RERESZEEGNIH) N 476 0 0 480
SRR HNT 2 239 993.92| R EKHEME 18 472 0 0 483
SRR el 3 52 1164.07 EFTARBER D] 66 0 0 228
SRR el 3 52 1164.07||EFEME U=ZTOvY) 6 314 0 0 576
SRR HE 1 173 624.36 HEK B - REZEN N3L 1378 490 0 385
BiRE [x@ 4 50| 124398 xEATHEMS 12 537 0 0 264
SRR XH 4 50 1243.98(| 2 BHEEME 12 139 0 0 852
SiRE Pz 2 7 958.92 ERTARBISR2RM 331 436 0 0 68
SRR Eay:e) 3 57 1376.72 HEATIKBE RN N3L 154 0 0 152
SRR Eay:e) 3 57 1376.72[|Z EHEME 11 268 0 0 128
SRR (50 4 19 345.92| B EME 3|— 0 0 864
SRR BE 5 4 19 345.92(| & AT EA R 3 550 3528 0 1728
FE LR BERE 7 909 1907||ILTH EEF SR 64 1592 0 0 576 | MLk B RESBZENT 3] 2839 605 128 252
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. HEELEER HRERMEEE 42—
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FHERR | zaumo| tRa0B| B-R08 FHEER | zammo| 1A 0| 8- RoBR
R SME®R (B E"/)ﬁﬂ#faﬁ ﬁﬁfﬂj(iﬁ ﬁﬁfﬂj(iﬁ L AL/ KA/ (4B f;:'?ﬁﬁfﬁ ﬁﬁﬁa’j(ﬁ B#FEE]EEFEﬁﬁ
EfRA HEEA% prae (FMEEH) | MEsD | B&RD ® R BER) (& | MERD i)
(R) (B¥FE) (B¥FE) (B¥FE) ) (B5FE) (B5FE) (F5FED)

FE LR BERE 7 909 1907||FTBERFELFR 23 1017 0 0 576
RS [SREEs 7 909 1907 EBHEMS 29 1720 0 0 560
BILE  [RERE 7 909 1907|| iR ERTS 39 1220 0 0 576
FE LR BERE 7 909 1907||FEEME 36 2133 0 0 576
FE LR BERE 7 909 1907||F IR EfE 21 1360 0 0 560
FE LR BERE 7 909 1907|| B A EfE 18 1176 0 0 576
FE LR BERE 7 909 1907[lIL R B =R 18 934 0 0 512
FE LR BERE 7 909 1907 EEMS 30 706 0 0 424
FE LR BRI 8 696 1124| B HERS 84 797 0 0 528 BB RESE LS — D] 3180 486 102 675
FE LR BRI 8 696 1124||R B EME 30 2430 486 100 576
FE LR BRI 8 696 124|EBEME 37 1028 586 100 720
FE LR BRI 8 696 1124| S EEMS 25 2225 0 0 576
FE LR BRI 8 696 124|HREMS 19 2749 0 0 576
FE LR BRI 8 696 1124|| S RERS 38 2301 198 0 1144
FE LR BRI 8 696 1124\ O EfE 18 939 0 0 440
FE LR BE-FR 2 56 1340(= REMS 17 0 0 576
FE LR BE-FR 2 56 1340(|%7 R ERS 4 0 0 476|# R HA B - RS EAR 3] 92 0 0 168
ELE  [EE 2 43 T B 31 1916 0 0 576
RLE  [Fl-%E 8 171 1848|[ZILTHEMS 32 8214 1225 245 923
RLE  [Fl-%E 8 171 1848|[EMEEMS 9 562 0 0 576
BWE  [EL-%A 3 171 1848|[s A EMS 6 996 0 0 576
RLE  [Fl-%E 8 171 1848|[E AT EMS 9 1 0 0 576
EMT EET 8 171 1848 A X BEMS 5 316 0 0 256
LE52 LEE-RERE 15 1361 2507|[[E BT ERS 630 21556 0 0 8289
L5E e REEE 15 1361 2507 LETEMSTRERMEFE Y S—|RAE 5579 781 165 227
LE52 LEE-RERE 15 1361 2507||RE i X ERE 122 3804 0 0 1925
LE52 LEE-RERE 15 1361 2507||RIEERFE 42 2470 0 0 648
L5 LEE-RERE 15 1361 2507, RIEEMSAHERSF L S— |RE 835 851 175 7
LR LEE-RERE 15 1361 2507|(LLI R ERE AT 15 0 0 576
LR LEE-RERE 15 1361 2507 | R =B HTEMS 18 1096 0 0 616
LR LEE-RERE 15 1361 2507 EHEMEK B RERDZER 3] 506 3402 775 1112
LR LEB-_RERE 2 143 568.15| K1 EAfis 3 88 126
LEBE  [RBE-XRERE 2 143 568.15][ Rtk B D& A 409 497
=] TEEH— RERE 2 143 568.15[/1k @ X EEfiS 43 2473 0 0 540
LEE  |EEAE-_XEERE 2 143 568.15]( HETRERBEEE 2— R 2836 1342 588 864
LEE [B-REEE 2 217 455||ETHEMS 16
EBE  [E-RERE 2 217 455 EfSHABREE 53— =Gl
LER  |S-RERE 2 217 455|[ R K ERS (B TEBH) 16 139 192
LR S RERE 2 217 455||{E R R ERS CTHAST) 9 630 0 0 427
LR LEEFR-RERE 3 213 197 REBH X EMR 27 2233 1444 184 200
L5 EESPR-RERE 3 213 797, EVNEL =S /A3L 1173 166 0 480
LR LEEFR-RERE 3 213 797|(r R REAR 2 413 0 0 666
L5 EESPR-RERE 3 213 797, R B2 N 180 0 0 438
LR LEEFR-RERE 3 213 197(| B R R EMS 1 54 0 0 378
LR LEEFR-RERE 3 213 19| ZRAMEMS 5 358 0 0 288
LE52 E=—RERE 3 240 1034.21(| = RHEMS 2 0 0 84
LR EBE== 3 240 1034.21 ZRTEMSKBREASEZEN |RE 937 972 1200 1728
LR 1= 3 240 103421t EEBELTS 2 46 0 0 136
LR 1= 3 240 1034.21(|EEHEME 52 4550 0 0 1752
LR 1= 3 240 1034.21 EEm I RER SRR N3L 1469 892 247 330
LR 1= 3 240 1034.21|H B =L 1 386 0 0 475
LR 1= 3 3 240 1034.21(| = EHEME 3 364 0 0 584
LR BU-Fh - REERE 3 512 1096[[4B LT =R 97 8459 0 0 1952
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FHERR | zaumo| tRa0B| B-R08 FHEER | zammo| 1A 0| 8- RoBR
A SMER | wooin | BREE | REH(F | REH(E e DI/ BHY | (g | BREE | BEH(E B#FEEKEF‘?A
ERR£ BRI BERIA) (FEM&E) | B&ER) &&t) = =S BRIW) (FEMAR) | B&AED
(R) (B¥FE) (B¥FE) (B¥FE) ) (B5FE) (B5FE) (B#F‘i)

LR fEl- = R ERE 3 512 1096(|# 7k ;B PR X E A 29 2409 0 0 1152
LER Bl FFh —RERE 3 512 R R ES 24 1523 0 0 560
LR B Fh - RERE 3 512 1006][FF ch i R EETS 43 4864 2360
LER |RU-Hh-RERE 3 512 1096][ BILRE A S ER N3 3976 851 172 256
LEBE Bl Fh - RERE 3 512 1096][ BRI/ B NG 3743 972 196 292
B  [El-RERE 2 83 2025 =R REEE L 2— A 1167 960 208 584
LEEE |- xEEE 2 83 2025 R EETS (R ED) 4 477 477
EBE Bl -RERE 2 83 2025 ERTRESE L 2— AT 238 238
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